=/ 0P8

quattro frazioni, decimali, ordine delle operazioni
tra parentesi

Nome:

3
20(3=5.1)+5%5-

1 13
=xX9+3-2=-+-2)=
3 (573

12(3,7+3,7)+4x3+4,9=

AN =

1
£ 42.5+5,6) =

3
(5

3
~Z)x4-27=
5) ’

Data: Punteggio:

1 3
——3(Z+3)=

1 |
S 4,9 x5+ - =
(3 > ) 3

1
592+4(278+ 5):

1
(5_4,8)X5_4,1:

1 2
S5 ) x4+ =
(3 > ) 3
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=/ 0P8

quattro frazioni, decimali, ordine delle operazioni
tra parentesi

Nome:

3 1 523
2 —_ 1+ —_— e = (— - = (— —
1 1 3 8
S x923-2(=+2)=(——
3>< (6 5) ( 15)

143 1
12(3,7+3,7)+4><3+4,9=7 =71§

1 163 3
Z+4(2,5+5,6)= — =32
5 FH3H5,0 =7 5

3 3 27 7
(g _g)x4_2»7—(_ﬁ):(_2ﬁ)

Data: Punteggio:
1 3 221 1
=3 +3)=(— =(—11—
5 3(4 3)=( 20 )= ( 20)

1 1 45 1
(g _4,9) X5+ g = (_7): (_225)

1
52+4(2,8+ =)= —= =182
,2TA2,8% 5) = <

| 793 13
-4 —4,1=(—22) = (-26—

1 2 92 2
(g - 5, 1) X 4+ g = (—g-) = (_185)
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